DMSEE

HEEBERER(1/OY) E:;%E##?ﬁ%iﬁﬁﬁi
(&%)




B

EEEERR (/Y MEERS

2 Fp jSTE vy HE | B B4 {ff &48 I
EBTEE
5| [ B {fiz 1
EHIRE
1] = H{fizx2
HEESERIAE
1| = H{fz*3
HEEFERR (5
1| =R BHifizxa4—1
HEFER (h7i)
1| =K Hi{fizc4—2
fRIEE AL 5 (BERD)
3,500( {E{A BE{fizk5—1
HEEARL S (HEER)
3,500( {E{K Bifix5—2
HEERGER(BEOIRHED)
7,000 @& H{fzx6
HREZIER
1| = E{fhizk7
EizEE
g
50.00 |%
=R ik
HEBHEZ4E 10 %
HET4R




==X BS%RIEXE M T ARE XA TIEEEE
BIEXER M T RE
RE-ZEE |BRA M B A (E)
Bz 1
(BT E EEY D)
¥R R H= Bi {51 ==X +%8 ik
Bffrga1 A, 1E&H =Y 155HE
Bt g SHRIEXS 0.12 A
RE -RXBE 1.0 @] (BENEHBFR~ET)
B (i
Bfizx2
—_— 1= K7
B Fh IR = BA L ==X &% _®E_ -
HESDOEERXEICEAT 5ERFE DR (E58)
EIRBI SRR BRIEXE 1.00 A
Hhish S HEER RENDNENGHET ERFAF DO DOREERD
ﬁ%%ﬁﬁ%i ¢#§$1’E¥§ 2950 * EEJEs %E(%iﬁs ﬁi‘ﬂ.’.)
k& 30.00
?é@ﬁ&ﬁbﬁﬂﬁ@iE(DT:&b(:;ZxEUVE%O)#EHj (&
LG HRIEXE 1.00 )
B (i
Bfizk3
HEEEFRAE 1= K7
B Fh IR = BA L ==X &% - &5 _
HTiTEHER . R R, xE REEDFHZE (/)
MTITERERE
MITRHEBEBDEMRIZEKSD
£hRE - 2R BA BHBIEXS 29.50 A
it ERE. RERARFLDOHE (FRih)
B R HAE R
TR EEDEHEICELS
2hR-ERER ez EI 29.50 A
B
B{fi%&4—1
EEEN (8 1R
¥ IR H= BA{SL B (i &% k=
(MTHEEDERIZLSD)
TR BHREXS 18.00 A
350088 +1.7088/ A B (CPUEKY) (HIV#T)
SR (EAR LS 205882 | A (M TThEFEHE DRI £D)
%’ﬂs GPSIEE | HEEEICVEEEMRUVEHRRD
AT b 100| = B
B {ff
Bifiz4—2
HIEEER (H7H) 1= K70
B Fh R = BAfsr ==X &%8 &%
(MTREEDERIZELS)
TR BHREEXS 18.00 A
3,5005E - 158/4& —8.008/ A BGRE B R0.5h + B =B
bR EEE HEEE 43750 | A F0.3h + B B HI0.2h)
3.50088 - 0.0288/ H & (CPUE&LY) 405/ N (FEZRZED
E@U !I:#%‘H’F%é 2187.50 A @E’]ﬁﬁiﬁo.ZOh)TZEﬁ:
100\ X508 /4
=B B E) 5000.00 [a]
KYnii, GPS., L YU—LE | HEEEICVER
R 1.00 % HERRUVEHERDERZEY

Ei{f




B{fiF&R5—1

fEEE AN (BEED) 1{EARL=Y
¥ R = BA{SL ==X _ k=
IEHELFM
1EHZELIEZE CGRER) ez EI 0.06 A
HAEIEHELEM
IEHELEM 1.00 =
BEER®. xR A
SoER1EE BEXE 0.06 A
e iREHERSE
oExEHM 1.00 =®
iR {AFR
fRIRIEZE B{EXE 0.06 A
RN E M
fRIAE# 1.00 =®
REEOHFM
REOEE BIEXE 0.01 A
R WM E
REDHEM 1.00 =R
EWE (E915km., E£1830km)
EHRESE BMEXE 0.05 A
AU
EHRE 1.00 =
==X i
B{fi&5—2
fEEE AN (1BER) 1{EARSE=Y
¥ IR = Bi 4T B (i k=
1IEHZELFR
1EHZELIEZE CGRER) ez EI 0.06 A
EAEIEHELEM
IEHELEHM 1.00 =R
BEER®. xR A
SOER1EZE BEXS 0.06 A
e iR FEHERSE
LExEHM 1.00 =R
R E S
HERIEXE B{EEE 0.10 A
HERE M
1B EH 1.00 =
==Xl
B{fi%*x6
HEEREER(EDREESD) 1{EARS=Y
B Fh R W= ==X ==X k=
EDHEIRE
EEEZE BHREEXS 0.01 A
FEGEEEN
EEEME 1.00 =R
BEER®. itixEE
SOERIEXE BIEXE 0.01 A
- iiaFEHERTE
SLEREM 1.00 =
1E % (E195km. 1E1510km)
ERIEE BIEXE 0.01 A
AR
Bk E 1.00 =
B {ff
Bfizk7
R ZEVERK 1RXHi=Y
¥ IR = Bi 4T B (i k=
BREEMYEED SHIEXS 6.0 A
{ERAE BN B{EXE 35.0 A
B (il




